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Answer any FIVE FULL Questions MARKS | CO |RBT
1 A dam is subjected to the following forces. Determine the resultant of all forces and [10] CO3 L4

locate its point of intersection with the base AC? Take the reference point as C.
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2 (d) Explain briefly with figures the different types of beams. [o6]  CO3
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(b) Draw the free body diagram of the beam. [0 Co3
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3. Derive the centroid of a right angled triangle OR a quarter circle. (ANY ONE) [10]  CO3
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Find the reaction at the supports. CB is a flexible link. [10]  CO3
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Find the centroid of the given composite with reference to the given X and Y axes. [10] CO5 L3
The radius of semi-circle is 50 mm. Height of triangle is 60 mm and the base of

rectangle is 120 mm. The radius of inner circle is 20 mm. NOTE: THE INNER

CIRCLE IS CUT OUT.
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6. (a) State Coulomb’s laws of friction.
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(b) Explain the determination of coefficient of static friction experimentally. [(] CO4 L4




Determine the horizontal force P applied to the lower block (100 kg) to just pull it to
the right. The coefficient of friction between the blocks is 0.2 and that between the
lower block and floor is 0.25. Assume the pulley to be frictionless. Take g = 10 m/s?.

The upper block is of mass 75 kg.
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